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(METFEREERR+ZASEHEEETE) (MEFEREBEARR+ZASEHEEETE)
& A B5E ABE S + Rl =g = &t N Aot + 3R F o F
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FH FH FH FH i = & 1.164 2 1.319 4 1. 041 9 1.003 11
= E &t 477 1.000 — 215 1.000 — 237 1. 000 — 25 1.000 — = 5 =2 0.925 35 0.894 32 0.974 26 0.721 47
— =5 F B 0. 881 46 0. 858 41 0.902 47 0.875 30
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)| | 420 0.881| 41| 168 0.781| 45| 226 0.954| 40 26 1.042 10 = |y = 0.975 28 1.073 22 0.907 46 0. 787 43
iR IR 467 0.980| 30 204 0.950| 32 238 1.006[ 30 25 0.995 15 b= [ T~ 1.093 13 1.247 9 0.983 24 0. 809 42
= W B 530 1.112 17 268 1.246 15 242 1.020 26 21 0.827 40 = H 12 1.002 292 1.095 17 0. 941 38 0.777 45
H IR | 560 1.174] 13| 292 1.360] 9| 247 1.042| 18 20 0.822| 42 W R B 0 924 36 0. 893 33 0. 956 34 0. 891 26
5 i : 533 1.117) 16| 269 1.250( 14| 244 1.030| 21 20 0.797| 44 E 5 oE 0. 890 42 0. 866 40 0 918 42 0. 829 10
W = i 448 0.940| 35| 198 0.923| 36| 228 0.962| 39 22 0.881| 32 Y 0 943 31 0 872 39 1 004 17 0 972 6
E % 8 | 464 0.973| 32| 208 0.968| 31| 235 0.991| 33 21 0.847| 38 s B 0 881 45 0 791 47 0 967 29 o 837 38
o2 R 460 0.965) 33) 192 0.895( 37} 243 1.0271 22 24 0.983| 16 = o 8 0.972 29 0.888 34 1.036 10 1.082 6
#% M | | 430 0.902| 40| 174 0.811| 42| 235 0.990| 34 21 0.849| 37 - = LE'r 0 926 57 o 876 - o oes a1 o 897 ’0
2 40 B | 448 0.939| 36| 181 0.844| 40| 240 1.011| 29 27 1.080[ 7 - e T : : . .
== ]| 466 0.978| 31| 201 0.936| 33| 243 1.025| 23| 22 0.901| 25| | ¥ R 0.981 25 1.013 24 0.962 32 0. 880 27
% e || 482 1.011] 27] 225 1.049| 22| 234 0.989| 35| 22 0.888| 29| | = # AT 1.049 17 1.086 21 1.020 13 1. 001 13
= E AF | 513 1.077] 20| 241 1.121] 21| 247 1.043] 17 25 1.010] 13 X BR HF 1.109 10 1.101 15 1.092 2 1.347 1
X MR AF 489 1.025| 24| 214 0.995| 27| 243 1.024| 24 32 1.300 1 £ &E R 1.042 18 1.013 25 1. 060 6 1.114 5
B E B | 507 1.064] 21| 222 1.034| 24| 257 1.085| 11 28 1.131 ol |=r g 0.979 26 0. 959 27 0.995 21 1.002 12
= g B | 476 0.999| 28| 210 0.978| 30| 241 1.016| 27 25 1.016] 12 FOFRLL 2 0.991 23 0.984 26 1.002 18 0.938 20
FOgxLE | 485 1.017] 26| 219 1.017] 26| 243 1.023| 25 23 0.942| 22 B H 18 0.982 24 1.047 23 0.928 40 0. 931 23
B H & | 518 1.086] 19| 255 1.185] 19 240 1.011| 28 24 0.953| 20 B iR B8 1.021 20 1.094 18 0.974 27 0. 841 36
5 R R 575 1.206 11 284 1.323 12 269 1.134 4 22 0. 881 31 B W e 1.065 16 1.118 13 1.018 14 1. 050 8
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